‘|]oued wJe 19| oyl R

uo 1iod |eoosle

Bulpuodsaiiod sped 1004
I ay1 ol di> Ajuii
Enpff(" Apog Jleyd ayy Jo (1) 3s813004
»vojll 9pIS 13| dY3 440 Bn|d A ‘€ xog
| yllll 2 [e2113D3[e BU} 838207 simiane B e | s J
\ @
‘yoes Jo sisgquinu pied yonod |043U0D 4
sy} Bulydlew Aq Auenepp alowsy  Ijowsy S|sued

spod ay) 01 sasoy
sojzzoN 3Y1 1089UU0D AjwliH o
9SOH Y ‘WY yoeo JO S1iod ALINIANI

HOd |edu1o9|3 SOSOH JIY Y @24} Uo Jaguinu
Bnid 182132313 Puipuodsallod syl

918007 Jaquinu e -
sey asoy yoes 210U Ma1s Sl Q%& pioo
pue Apog Jieyd Jo d
apIS Uoes JJO SaSOH

wlv =pIS
@ :Z xog

ASY X8H 8N asng  sdiD aieds

A 8y} 812207
'y dois ° / y @

(sod ) wwiZ X 8N A9YSeM @
(sod g) ww 9L x g od (@
(sod ) ww o X 8 Hog —®

D pue g ‘Y suonedo|
‘ApOqQ Jileyd ayy 01 sayoeyie

xog A10SSa00Y

e yoes suonedo| € ayl 910N 1 Apog Jieyd
:c doig e L xog A10sS300y L 'L xog )
. ‘aseyo.ind jo ase|d ayj} 03 uinjali Jou oqg ‘000S-0L6-E09
P8 AEhs IoHed SPIS dreys 12 ALINIANI 312€3U0D asead ‘Buissiw si BuiyjAue y|
i 31 JO 2pIS 1024102
T oo | U1 0] 1XaU 228(d "JOJ PSIUNODDE BJE SIUSIUOD ||& 3INS S)BN 'MO[3( |Ie19P 81 01 SIUSIUOD
M,O:Q Wﬂ X0Q X29YD ‘SIUDU0D XOJ ||e Yoedun Ajnjaied ‘Ajquiasse 0} Jolid
‘MII"Z‘:‘} bue 3ybL sy woly 1 do3s
IS % : |lsued uie 13| sy}
(i aulwI1ag Alquasse 3dOD NVOS
X “ 10} ©2rJUNS 1JOS B Uo I s *aA0Qe TN Yl 01 Aj3031Ip 06 01 3P0 YO Y} ULdS ‘A|DAIlRUIDY Y
Apoq Jieyd ayi ade|d o

s|el101n}-A|quiasse/wod siieydabessewAjuijurr mmm
16 09PIA A|qUUasSse ue ydiem ‘lieyd JnoA Buljquiasse aiojaqg

iz dais

Final Check:

Double check that all air hoses are still firmly

connected in the back of the chair under the arm ( \

panels. You can see the connections in the back

of the chair, underneath the arm panels when o Ty T ®

Plug the chair back into a grounded 110V e o

electrical outlet. M A S S A G E C H A | R S

Zipper the closure between the / \ S e I I l b | y
Footrest and Chair Body °

Ensure the Footrest assembly
swings freely up and down,

Electrical connections are firmly
attached, and air hoses are secure.
Remove the foot pads to increase

Turn on Main

power switch foot roller intensity, if desired.

Power on the
remote and select
AUTO program to
start a session.

Review chair for smooth operation. If things are not
operating correctly, review all assembly steps. Call Infinity support at
1-603-910-5000 if you need live US-based support.

If you wish to use an APP to control the chair, download from the Apple
or Google app store and follow pairing instruction found within the APP.

You are done; time for a Massage!

Register your product at www.infinitymassagechairs.com/

warranty to ensure it is in our system. This will simplify the E | . M 4 D
warranty process should you ever need it. VO U t I O n a X
Alternatively, scan the QR code to go directly to the URL above. M a S S a g e C h a I r
INFINITY

72 Stard Road, Seabrook, NH 03874 | (603) 910-5000 | www.infinitymassagechairs.com

Version 1.1

SCAN CODE



INFINITY

Step 5:
Carefully lift each arm and hook
on the rail to support the arm.
Make sure the air hoses and
electrical wires remain
connected and not
pinched.

Step 7:

Locate the long, silver M8
Bolts (2), Washers (2) and
hex key tool from the
Accessory Box. Fasten
this bolt and washer under
the Velcro flap just below
the shoulder air bag
(Position B) until snug; do
not tighten yet.

Step 9:
Locate the Power Cord,
Remote Control and
Remote pouch from the
Accessory Box. Attach
each to the chair body in
locations on the illustra-
tion, being careful to line
up electrical pins and
prongs. The Pouch
attaches to the Velcro
found under the right arm
massage.

Align pins, push together,
screw fastening ring

Remote cord
connection

Step 11:

Unplug chair from
electrical source. Locate
Footrest and place on
floor adjacent to chair
body. Attach the 3
electrical connectors
and air hose to air port.

Air nozzle «——p Air hose

<+—>» Footrest drive
connector plug

Footrest drive
connector port

Footrest power «—» Footrest power
connector port connector plug

<+—>» Footrest air valve
connector plug

Footrest air
connector port

@—— M8x40 Long Bolt

M8x24 Washer

A |

MASSAGE CHAIRS

®

Leads from
the
Footrest

Pin retainer

Step 6:
Next locate the Pin in position A
on the Arm and secure it under
the Pin Retainer on the Chair
body in position A from
step 3.

Slide Pin under
Retainer to
secure

@— M8x16 Short Bolt
M8x24 Washer

Step 8:

Locate the shorter,
black M8 Bolts (2) and |\
Washers (2) from the |
Accessory Box. Fasten
this bolt and washer in
Position C. When
secured, tighten both
positions C and B on
both arms.

Step 10:

Plug the chair into a grounded electrical outlet. Power on the
Main power switch and press the Power button on the
remote until the chair uprights out of shipping position.

(you may need to press power more than once).

Main Switch

Remote Power
Switch

Chair Body Pin
Location

Step 12:

Remove the clips on the
Chair Body Pins by
sliding up. (If Clips are
missing, there are spare
clips in the Accessory
Box)

Chair Body Pin
Location

Lift the Footrest and
position the hinge of on
body pin. Carefully align
the other side hinge over
the pin and center the
Footrest. Fasten the
clips over the pins to
retain both sides of

the footrest.

Slide Hinge
over Pin on
each side

Slide Clips
over Pin to
Fasten
Footrest in
place




